1.2 Limits Analytically
Calculus
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On the AP exam, there will be questions where you must find the hole of a function. This is basically finding the
limit as you approach the discontinuity. The problems on the exam will be worded differently, but if you can
recognize what to do, they are not that difficult.

The following functions have a removable discontinuity (hole). If we fill in this hole to make the function
continuous, what is the coordinate point to fill in?
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Using the following piecewise functions, find the given values.
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